
	
	

	

Part	#	 Description	 	Cost/ea.	 110W-OBF	 	QTY	 216W-OBF	 	QTY	 513W-OBF	 	QTY	
52062RS11/8	 5206	11/8”	Bearing	 	14.70	 √	 2	 √	 2	 √	 2	
AR-1592-EO	 Seal	 	4.20	 √	 13	 √	 13	 √	 13	
B001	 Bushing	Cap	 164.85	 √	 2	 	 	 √	 2	
B002	 Innerplate	Bushings	 	8.40	 √	 4	 √	 4	 √	 4	
B15	 1.5”	Bushing	 	14.70	 √	 1	 √	 1	 √	 1	
B25	 2.5”	Bushing	 	22.05	 √	 2	 √	 2	 √	 2	
CC001	 Combo	Cap	 	131.25	 	 	 √	 2	 	 	
CC002	 Combo	Cap	End	 	133.35	 	 	 √	 2	 	 	
EP000	 Endplate	Insert	 	30.00	 √	 4	 √	 4	 √	 4	
EP001	 Medium	Endplate	 	249.90	 √	 1	 √	 1	 √	 1	
G001-64	 End	Cap	Durlon	Gaskets	(Green)	 	1.05	 √	 4	 √	 4	 √	 4	
G002B-32-V	 1/32”	Medium	Velbuna	Gasket	 	7.80	 √	 2	 √	 2	 √	 2	
G002B-64-V	 1/64”	Medium	Velbuna	Gasket	 	5.90	 √	 2	 √	 2	 √	 2	
G002BW-64-V	 1/64”	Medium	Velbuna	Wearplate	Gasket	 	4.80	 √	 2	 √	 2	 √	 2	
GN001	 Grease	Nipple	 	2.10	 √	 1	 √	 1	 √	 1	
GN002	 Grease	Nipple	Adapter	 	16.80	 √	 2	 √	 2	 √	 2	
H001	 Hold	Down	Ring	 	47.25	 √	 6	 √	 6	 √	 6	
HOU004CS	 2100	–	4”	T&E	Ductile	Housing	 336.00	 	 	 	 	 √	 1	
HOU006CS	 4000-	6”	T&E	Housing	–	SG	 488.25	 √	 1	 	 	 	 	
HOU00725C	 4100	–	7.25”	T&E	Housing	 562.80	 	 	 √	 1	 	 	
HOU00750RC	 4000R-	4”	90°	T&E	Housing	 618.45	 	 	 	 	 	 	
M008-2100	 Keystock	for	4”	Gears	 6.30	 	 	 	 	 √	 2	
M008-4000	 Keystock	for	6”	Gears	 9.45	 √	 2	 	 	 	 	
M008-4100	 Keystock	for	7.25”	&	7.5”	Gears	 	10.50	 	 	 √	 2	 	 	
MDP516-114	 5/16”	x	1	¼”	Dowell	Pin	 1.20	 √	 2	 √	 2	 √	 2	
MDP516-134	 5/16”	x	1	¾	”	Dowell	Pin	 .80	 √	 2	 √	 2	 √	 2	
MCSH8C38-134	 3/8”	x	1	¾”	Bolt	 .44	 √	 24	 √	 24	 √	 24	
MCSH8C38-34	 3/8“	x	¾”	Bolt	 .25	 √	 2	 √	 2	 √	 2	
MCSH8C516-114	 5/16”	X	1	¼”	Grade	8	Bolt	 	.23	 √	 6	 √	 6	 √	 6	
MCSH8C516-34P	 5/16”	x	¾”	Bolt	 	.20	 √	 24	 √	 24	 √	 24	
MDYE	1/4	Plug	 1/4”	Plug	Screw	 	2.67	 √	 2	 √	 2	 √	 2	
MDYE	1/8	Plug	 1/8”	Plug	Screw	 	1.70	 √	 2	 √	 2	 √	 2	
MDYE	3/8	Plug	 3/8”	Drain	Plug	 2.42	 √	 1	 √	 1	 √	 1	
MFAS-8LWS-031	 5/16”	Grade	8	Lockwasher	 	.20	 √	 6	 √	 6	 √	 6	
NSK	AELS206-102	 Lock	Collar	Bearing	 	30.45	 √	 2	 √	 4	 √	 2	
OO35-7147	 O-Ring	 	1.05	 √	 4	 √	 6	 √	 4	
OB-BSH-01	 T&E	Grip	Bushing	 	73.50	 √	 2	 √	 2	 √	 2	
OB-EP001	 OB	Med	Endplate	w/o	drain	plug	 274.05	 √	 1	 √	 1	 √	 1	
OB-FAS	242-167	 ½”	x	5/8”	Set	Screw	 	.48	 √	 4	 √	 6	 √	 2	
OB-G002B-32	 Outboard	Gearcase	Gasket	1/32	 10.50	 √	 1	 √	 1	 √	 1	
OB-G002D-64	 OB	Durlon	Endcap	Gasket	(Green)	 	1.05	 √	 2	 √	 2	 √	 2	
OB-GC-Medium	 OB	Medium	Gearcase		 197.40	 √	 1	 √	 1	 √	 1	
OB-GH34B	 OB	Timing	Gears	for	4000/4100	w/timing	 	220.50	 √	 1	 √	 1	 √	 1	
OB-GH34B-1	 OB	Timing	Gears	for	4000/4100	w/o	timing	 	220.50	 √	 1	 √	 1	 √	 1	
OB-GN002	 Grease	Nipple	Adapter,	No	Hole	 	16.80	 √	 1	 √	 1	 √	 1	
OB-I001	 OB	Input	Holder	 	207.90	 √	 1	 √	 1	 √	 1	
OB-I002-20	 OB	20”	Input	Shaft	 131.25	 	 	 	 	 √	 1	
OB-I002-24	 OB	24”	Input	Shaft	 145.95	 √	 1	 	 	 	 	
OB-I002-26	 OB	26”	Input	Shaft	 153.30	 	 	 √	 1	 	 	
OB-I003-13.25	 OB	13.25”	Idler	Shaft	 107.10	 	 	 	 	 √	 1	
OB-I003-15.25	 OB	15.25”	Idler	Shaft	 114.45		 √	 1	 	 	 	 	
OB-I002-18.5	 OB	18.5”	Idler	Shaft	 126.00	 	 	 √	 1	 	 	
OB-S001	 Gear	Bearing	Spacer	 	34.65	 √	 2	 √	 2	 √	 2	
OB-S002-I	 OB	Inside	Bearing	Cap	 	40.95	 √	 2	 √	 2	 √	 2	
OB-S002-O	 OB	Outside	Bearing	Cap	 	109.20	 √	 1	 √	 1	 √	 1	
OB-SG4	 4”	Gears	Drilled	for	OB	(set)	 992.25	 	 	 	 	 √	 1	
OB-SG6	 6”	Gears	Drilled	for	OB	(set)	 1,219.05	 √	 1	 	 	 	 	
OB-SG7.25	 7	¼”	Gears	Drilled	for	OB	(set)	 1,403.85	 	 	 √	 1	 	 	
OB-WPD02	 Wearplate	w/	Diamond	 98.70	 √	 1	 √	 1	 √	 1	
OL-001	 Oil	Lubrication	System	 	627.90	 √	 1	 √	 1	 √	 1	
OL-BRA-1469-6A	 OB	3/8”	x	1/8”	NPT	90D	Elbow	 	3.15	 √	 1	 √	 1	 √	 1	
OL-BRA-1472-6A	 OB	3/8”	X	1/8”	NPT	Tee	 	5.25	 √	 1	 √	 1	 √	 1	
P001	 Packing	Nut	 	115.50	 √	 1	 √	 1	 √	 1	
P003	 Packing	 	9.45	 √	 2	 √	 2	 √	 2	
SH002	 Double	Seal	Holder	 	33.60	 √	 2	 √	 2	 √	 2	
W001	 Aluminum	Washer	 	3.15	 √	 3	 √	 3	 √	 3	
W002	 Metal	Washer	 	2.10	 √	 3	 √	 3	 √	 3	
WP002	 Medium	Wearplate		 66.15	 √	 1	 √	 1	 √	 1	
Z1/8-AER2045	 1/8”	NPT	M/F	ST	Grease	Nipple	Swivel	 	2.40	 √	 1	 √	 1	 √	 1	


